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Instructions to the candidates:

1) Answer Q1) or Q2), Q3) or Q4), Q5) or Q6), Q7) or Q8).

2)  Neat diagrams must be drawn wherever necessary.

[Max. Marks : 70

3)  Figures to the right side indicate full marks.
4)  Assume suitable data, if necessary.

Q1) a) Inreal-world data, tuples with missing values for some attributes are a
common occurrence. Describe various methods for handling this problem.

[6]
b) Explain the following terms : [6]
i)  Constraint-based rule mining.
i) Closed and maximal frequent itemsets.

c) Consider the following data for a binary class problem [8]
A B Class
T F P
T T P
T T N
T F P
T T P
E F N
F F N
F F N
T T P
g E N
PT.O.

02) a)

b)
<)

93) 2

b)
c)

04) 2)

i)  Compute the information gain for Al and A2.

i)  Whatis the best split between A1 and A2 according to Information gain?
i) Compute the Gini index for Al and A2.

iv) What is the best split between A1 and A2 according to Gini index?

OR
Consider the market basket transactions shown below : [6]
Transaction ID Items bought
T1 {M, A, B, D}
T2 {A,D,C, B, F}
T3 {A, C, B, F}
T4 {A,B,D}

Assuming the minimum support of 50% and minimum confidence of 80%
i)  Findall frequent itemsets using Apriori algorithm.
i) Find all association rules using Apriori algorithm

What are the major tasks in data preprocessing? Explain them in brief.[6]
Explain with suitable example : [8]

i)  k-Nearest-Neighbor Classifier
ii)  Scalable decision tree

Consider the following points six points : [8]
P1(0.40, 0.53), P2(0.22, 0.38), P3(0.35, 0.32), P4 (0.26, 0.19), P5(0.08, 0.41)
and P6(0.45, 030).

Perform the single link hierarchical clustering and show your reults by
drawing a dendrogram.

Explain with suitable example the k-medoids algorithm [6]

What are the requirements of clustering in data mining? [3]
OR

What is meant by cluster analysis? [4]

Explain with suitable example the K-means algorithm. [5]

Differentiate between following clustering methods [8]

1)  Single and complete link
if)  Hierarchical and partitioning
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